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—56
(b) =
Explanation:

—56
65

(0)-4
Explanation:
-4

(b)2¢/3

Explanation:

2¢/3

(b)x? +y?-8x-2y-51=0
Explanation:

x2+y2-8x—2y-51=0

25
®) 55
Explanation:

25
52

(b)2"-1
Explanation:

2"-1

(b) 12
Explanation:
12

(a) 1023
Explanation:
1023

(c) sin x2

Explanation:

sin x2
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

(d) does not exist

Explanation:
does not exist

(Ja=-1,b=-22

Explanation:
a=-1,b=-22

(a) Saral Mart does not reduce the prices and still I will shop there.

Explanation:

Saral Mart does not reduce the prices and still I will shop there.

(a) 29
Explanation:
29

(b) [

Explanation:

5

()1
Explanation:
1

(dc=a
Explanation:
c=a

(b) 2tc

a
Explanation:

b+c
a

@ 3
Explanation:
1

9

(@0
Explanation:
0

@ 3

Explanation:
3

2

7 )
—-11 -8
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21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

®)0
Explanation:
0

(d)2
Explanation:
2

(d) direction cosines and direction ratios of the line
Explanation:
direction cosines and direction ratios of the line

() 7a — 15b
Explanation:
7a — 15b

(d) 136
Explanation:
136

) =

Explanation:
2n
3

-6
Explanation:
T

(b)1,1,/2

Explanation:

1,1,4/2

(@x+3=y-3=z+4
Explanation:
x+3=y-3=z+4

b)x-y<1,2x+y>2,x+2y<8,x>0,y>0
Explanation:
X-y<1,2x+y>2,x+2y<8x2>0,y>0

1 l1-tanx 2f(
(b) 2 \/ l14+tanx - sec <Z + x)
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

Explanation:

1 1—-tanx 2
2 1+tana sec <4 +Jf)

(b) e
Explanation:

eX

®) ;
Explanation:
1

2

(d) sec x
Explanation:
sec x

@1
Explanation:
1,1

(c) 0.7845
Explanation:
0.7845

s 1
(d) 5 + 7log3
Explanation:
X+ +log3

52
(a) 5 (tan”'x + cotlx) +
Explanation:

52
m5—2 (tan'lx + Cot'lx) +c

(b) sin 5x
Explanation:

sin 5x

(a)4x2+12x+610gx—%+c

Explanation:

4x2+12x +6logx - = +c

b) 5+
Explanation:

X
5 T o
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42.

43.

44,

45.

46.

47.

48.

49.

50.

(@) 2

Explanation:
128
3

(c)2-e
Explanation:
2-e

(b) None of these

Explanation:
None of these

dy y
a) — ==
()dw ~

Explanation:
Y _y

dz T

(c) 0.37
Explanation:
0.37

23
®) 5
Explanation:

23
60

(b) — - and 2

Explanation:

1 5
and 1

(a) 55
Explanation:
55

(© (0.8)°
Explanation:

(0.8)8
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